

Republic of the Philippines PROCUREMENT DEPARTMENT

Quezon City Government



PO Number

200320

Purchase Order Date:

JUN 0 2 2020

Procuring Unit

: Office of the City Mayor (Quezon City General Hospital)

PR Number

: GF-20-02-00071

Company Name

: LXS TRADING

Mode of

: Public Bidding

Address

Procurement

: 20 N. Ponce Street, Doña Aurora, Quezon City

Resolution No. **TIN Number**

: 20-PB-003 : 238-643-432-000

Business Type

: Sole Proprietorship Registration #01084533

Contact Number: 456-4344

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Quezon City General Hospital

Delivery Schedule: 60 Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
	1 dues asiat finish and a sial harmalist at sith 2	issue			
	1-ducco paint finish wooden sink base cabinet with 2-swing doors and rubber vinyl base;				
	1-acid resistant epoxy resin greenstone sink bowl size 450mm x 380mm x 300mm with drainboard complete with traps and drain fittings (US made);				
	1-acid resistant epoxy resin greenstone pegboard with acid resistant polypropylene pegsticks (US made);				
	1-powdercoated gooseneck water faucet (US made);				
	1-handheld eyewash deck-mounted (US made);				
	4-E.O. 110/220V single gang single face flush mounted;				
	2-layered ducco paint finish reagent rack with stainless steel rail guard				
	****** Nothing Follows ******				
	2				

Total Amount:

12,763,091.00

Total Amount In Words (Pesos):

Twelve Million Seven Hundred Sixty-Three Thousand Ninety-One Pesos Only

MA. JOSEFINA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

Officer-In-Charge, City Accounting Department



OBR: 100-2020-06-03163

PR Amount:



Republic of the Philippines PROCUREMENT DEPARTMENT

Quezon City Government



PO Number

200320

Purchase Order

Date:

JUN 0 2 2020

Procuring Unit : Office of the City Mayor (Quezon City General Hospital)

PR Number

: GF-20-02-00071

Company Name

: LXS TRADING /

Mode of

: Public Bidding

Address

Procurement

: 20 N. Ponce Street, Doña Aurora, Quezon City

Resolution No.

: 20-PB-003 /

Business Type

: Sole Proprietorship Registration #01084533

TIN Number

: 238-643-432-000

Contact Number: 456-4344

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Quezon City General Hospital

Delivery Schedule: 60 Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
1	Chair Gang 3 Seater (1)	рс	1 1	16,000.00	16,000.00
	* 3 seater, stainless steel, panel (1.5-1.8mm in thickness)	Po	_	10,000.00	10,000.00
	with armrest, backrest & seat are of perforated stainless				
2	Staff Chair (4)	pcs	147-	6,000.00	882,000.00
	* fabric type, mid-back with armrest, gas lift with 5-pronged star base legs, color: light green			,	
3	Teller's Chair	pcs	14	4,400.00	61,600.00
	*without armrest, leatherette seat and back with foot rest, gas lift and caster wheels or stopper, 460mm width x 640mm depth x 860- 110mm height				
4	Auditorium Chair, Installed (4c)	pcs	147	18,200.00	2,675,400.00
	* fabric seat and back, wooden armrest coated with polyester paint good quality cold rolled steel foot rest foldable seat and tablet				
5	Chair Phlebotomy (Blood Extraction Chair, 4d)	pcs	6	15,000.00	90,000.00
	* custom made with arm chair, cushioned seat, steel frame	X-1		TE-LEGISTE CO.	
6	Executive Mobile Pedestal, (5a)	рс	1 /	9,000.00	9,000.00
	* in solid wood icebirke or rosewood color, with filing drawers at the bottom and 2 small drawers on upper, 460mm (L) x 560mm (W) x 680mm (H)				
7	Sofa 3 Seater (6)	pcs	2	35,000.00	70,000.00
	* with armrest, leatherette, color: light brown	110			*
8	Sectional Sofa, 4-Seater (6a)	pcs	4	45,000.00	180,000.00
	* With armrest, leatherette, color: light brown,				
	1.50m x 2.1m length				
9	Sofa - 2 Seater (7)	pcs	2 ,	40,000.00	80,000.00
	* with armrest, leatherette, color: light brown				
- 6					

MA. JOSEFINA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

Officer-In-Charge, City Accounting Department

OBR: 100-2020-06-03163

PR Amount:



Republic of the Philippines PROCUREMENT DEPARTMENT

Quezon City Government



PO Number

200320

Purchase Order

Date:

JUN 0 2 2020

Procuring Unit

: Office of the City Mayor (Quezon City General Hospital)

PR Number

: GF-20-02-00071

Company Name

: LXS TRADING

Mode of

: Public Bidding

Address

: 20 N. Ponce Street, Doña Aurora, Quezon City

Procurement

Resolution No.

: 20-PB-003

Business Type

: Sole Proprietorship Registration #01084533

TIN Number

: 238-643-432-000

Contact Number: 456-4344

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Quezon City General Hospital

Delivery Schedule: 60 Calendar Days

Payment Term:

Credit

Stock	Item	Unit of	QTY	Unit Cost	Amount
No.		Issue			
10	Center Table - Stainless Steel Base (8)* glass top, 1.0m Length x 0.60m width x 0.47m Height	pcs	5 -	21,000.00	105,000.00
11	Side Table With Stainless Steel Base (9)	pcs	5 -	15,000.00	75,000.00
	* glass top, 0.45m Length x 0.45m Width x 0.60m Height				-
12	Executive High Back Chair with Chrome Legs (43)	рс	1	18,000.00	18,000.00
American Co.	* Executive High Back Chair with armrest, gaslift and backtilt, mesh type with five pronged star base chrome legs NET series color black				
13	Executive Visitor's Chair (12a)	pcs	2 -	15,000.00	30,000.00
	* semi-High Back mesh type with armrest, gaslift with five pronged star base chrome legs, NET series color black				
14	Staff Visitors Chair (12d)	pcs	147.	5,360.00	787,920.00
	* visitor chair without armrest, sled type fabric finish				
	Lily series color: light brown				
15	Meeting Chair (12e)	pcs	6 -	3,500.00	21,000.00
	* without armrest, four-legged type fabric finish				
	Lily series, color: black				
	Meeting Chair (12g)	pcs	69	4,500.00	310,500.00
	* PVC perforated backrest, stainless steel armrest wrapped in PVC, black fabric seat rest and four-legged stainless steel legs				
17	Table Executive with Side Table (14)	рс	1 ,	25,000.00	25,000.00
	* 45mm thick solid wood in high pressured laminate top finish with bull-nose edging in rosewood color: 2.0m L x 1.0m W x 0.75m H and side table, 1.0m L x 0.50m W x 0.75m H, rosewood color				
18	Table Freestanding - 1.2m L x 0.60m W x 0.75m H (19e)	pcs	9 -	15,000.00	135,000.00
E 1	* high pressure laminated top, color: light brown (wood grain) powder coated metal legs with drawer (powder coated with lock) color code - offwhite				

MA. JOSEFINÁ G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

Officer-In-Charge, City Accounting Department

OBR: 100-2020-06-03163

PR Amount:



Republic of the Philippines PROCUREMENT DEPARTMENT Quezon City Government



PO Number

200320

Purchase Order Date:

JUN 0 2 2020

Procuring Unit

: Office of the City Mayor (Quezon City General Hospital)

PR Number

: GF-20-02-00071

Company Name

: LXS TRADING

Mode of

: Public Bidding

Address

: 20 N. Ponce Street, Doña Aurora, Quezon City

Procurement

Resolution No. : 20-PB-003

Business Type

: Sole Proprietorship Registration #01084533

TIN Number

: 238-643-432-000

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Quezon City General Hospital

Delivery Schedule: 60 Calendar Days

Contact Number: 456-4344

Payment Term:

Credit

Stock No.	Item	Unit of	QTY	Unit Cost	Amount
		Issue			
19	Table free Standing 1.0m L x 0.60m W x 0.75m H (19k) * high	pcs	21	15,573.00	327,033.00
	pressure laminated top, color code SP SF1176 powder coated				-
	metal legs with central drawer (powder coated metal drawer with lock), color code: Offwhite				
20	Table Free Standing, 0.9m L x 0.50m W x 0.75m H (19J)	pcs	60 /	6,400.00	384,000.00
	* high pressure laminated top, color: light brown (wood grain) powder coated metal legs with drawer (powder coated with lock) color code - Offwhite				
21	Table Free Standing - 1.40m L x 0.60m W x 0.75m H (19L)	рс	1/	8,250.00	8,250.00
	* high pressure laminated top, color: light brown (wood grain) powder coated metal legs with central drawer (Powder coated metal drawer with lock)				·
22	Lateral Filing Cabinet, Wooden, 4-layers (22a)	рс	1	25,200.00	25,200.00
	* 2-filing drawers on bottom and 2-index drawers on upper part drawers in MFC finish, 0.90m length x 0.45m width x 1.06m height	•			
23	Locker - 9 door with lock and key (28a)	pcs	48	21,966.00	1,054,368.00
	* steel made, powder coated, 880 x 510 x 14780cm (black or gray)		14	200	
24	Table Free Standing with Side Table (30b)	pcs	45	15,400.00	693,000.00
Access to the second	* free standing table, 1.10m L x 0.50m W x 0.75m H, free standing side table, 0.8m L x 0.40m W x 0.75m H, color: light brown (wood grain) powder coated metal legs and drawer with lock				
25	Double Deck Bed - 36" x 75", bolted type (25)	рс	1	1 11,487.00	11,487.00
	* wood pole with metal frame				
26	OPD Examining Table	unit	26	34,230.00	889,980.00
1	* with powder coated steel cabinet, 2 drawers, iv pole slot and footstool at front, upholstered top, back section adjusts from norizontal to chair position with extended collapsible foot rest powder coated paint finish, 18" gauge steel				

MA. JOSEFINA G. BELMONTE City Mayor

to the (6/23/2020 Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU

Officer-In-Charge, City Accounting Department

OBR: 100 - 2020 - 06 - 03/63

PR Amount:



Republic of the Philippines PROCUREMENT DEPARTMENT Quezon City Government

PO Number

200320

Purchase Order

Date: JUN 0 2 2020

Procuring Unit

: Office of the City Mayor (Quezon City General Hospital)

PR Number

: GF-20-02-00071

Company Name

: LXS TRADING

Mode of

: Public Bidding

Address

Procurement

: 20 N. Ponce Street, Doña Aurora, Quezon City

Resolution No.

: 20-PB-003

Business Type

: Sole Proprietorship Registration #01084533

TIN Number

: 238-643-432-000

Contact Number: 456-4344

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Quezon City General Hospital

Delivery Schedule: 60 Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
	shell, height with upholstered: seamless top 33", patient load rating: 500lbs (226.8kg), length without footrest: 50 $\%$ ", length with footrest extended: 75", width: 20"				
27	* Bed Top frame is made of stainless steel with x-ray top, 4 section top, includes foam mattress 3" x 24" x 72", IV pole, IV socket, and oxygen tank holder, variable height 3 cranks, utility shelf at the bottom. Includes folding side rails, heavy duty caster wheeled 5" with swivel and wheel lock, estimated dimensions: 56.1cm W x 183cm L x 70cm - 92cm (-+3%)	unit	3 /	168,000.00	504,000.00
28	Table Conference, 0.90m L x 0.90m W Stainless Legs (26) * High Pressured laminated top with 4-stainless legs	рс	1 ,	16,500.00	16,500.00
29	0.90m L x 0.90m W x 0.75m H Chair Conference (35) * Meeting Chair / Conference Chair, midback chair with armrest gaslift and backtilt 2 tone fabric with five pronged star base legs color: light green body with light pink strip	pcs	72 ×	11,161.00	803,592.00
	Table Conference - 6 seater, wooden legs (40) * rectangular shape, high pressure laminated top with wooden legs, color - rosewood 1.80m L x 1.0mW x 0.75m H	pcs	5	23,000.00	115,000,00
l	Table conference - 10 seater, wooden legs (83) * rectangular shape, high pressure laminated top with wooden legs, color - rosewood 2.50m W x 1.20m D x 0.75m H	pcs	3 ′	27,500.00	82,500.00
32	Table Conference - 12 seater - wooden legs (100) * rectangular shape, high Pressure Laminated top with wooden legs, color - rosewood 3.2mW x 1.2mD x 0.75mH	рс	1	35,000.00	35,000.00

MA. JOSEFINA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

Officer-In-Charge, City Accounting Department

OBR: 100-2020-66-63163

PR Amount:



Republic of the Philippines PROCUREMENT DEPARTMENT Quezon City Government

PO Number

200320

Purchase Order Date:

JUN 0 2 2020

Procuring Unit

: Office of the City Mayor (Quezon City General Hospital)

PR Number

: GF-20-02-00071

Company Name

: LXS TRADING

Mode of Procurement : Public Bidding

Address

Resolution No.

: 20-PB-003

: 20 N. Ponce Street, Doña Aurora, Quezon City

TIN Number

: 238-643-432-000

Business Type

: Sole Proprietorship Registration #01084533

Contact Number: 456-4344

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: Quezon City General Hospital

Delivery Schedule: 60 Calendar Days

Payment Term:

Credit

Stock	ltem	Unit of	QTY	Unit Cost	Amount
No.		Issue			
	Steel open Racks - 4 Layers - 1.20m L x 0.60m W x 2.0m H (38)* Cold rolled BI sheet with ga. 18 thick of adjustable shelves bolted to the angular post. Each shelf is provided with two mid-stiffeners welded beneath for added load resistance and back stiff	pcs	8 -	12,500.00	100,000.00
	purposes, with triangular bracing for anti-sway 2mm x 1 1/2" x 1 1/2", powder coated finish purposes, full slotted angular post				
34	Writing Desk Chair (89)	pcs	14 -	2,940.00	41,160.00
1	* Made of 100% virgin resin seat, back, and writing desk with high grade painted metal legs, 73cm x 51cm x 45cm				
35	Bedside Table with Cabinet (5b)	pcs	6	6,300.00	37,800.00
1	* Local made, painted white with guard rails, one center drawer, one compartment door with 4-caster wheels 19"W x 16"L x 31"H				
36	Curtain on Rod	lm	73 -	3,400.00	248,200.00
	* Antibacterial curtain, 2.10m Height on stainless steel rod				
37	Roller Shade Blinds	m²	249 /	6,649.00	1,655,601.00
	* Roller Shades - Sunscreen roller shades w/ aluminum framing for executive / conference - color code PT granite for other areas - color code white beige L-200				
38	Laboratory Center Table with Endsink (102)	unit	1	159,000.00	159,000.00
-	2997mmL x 1270mmW x 921mmH composed of 19mm thick solid/homogeneous, acid, scratch, stain , heat				
	and flame resistant epoxy resin greenstone top and splashboard black (US made);				
	4-ducco paint finish wooden base cabinets each with 4-drawers, 1- swing door, adjustable shelf and rubber vinyl base;				
	2-ducco paint finish wooden apron / legroom each with 1-drawer and rubber vinyl base;				

MA. JOSEFINA G. BELMONTE City Mayor

Funds Available:

RUBY G. MANANGU

Officer-In-Charge, City Accounting Department

OBR: 100-2020-66-03163

PR Amount: